4.5

4.0

3.5

3.0

2.5

2.0

1.5

1.0

0.5

0.0

Multiply kilograms by 2.2 to get pounds:
3.0kg x2.2=6.61b

Divide pounds by 2.2 to get kg:
7.0 Ib+2.2=3.2kg

——————— -1 47—
1=
%_,. — ¥

22 23 24 25 26 27 28 29 30

This curve was created in 2013 by the Forgotten Diseases
Research Foundation. For educational use.
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Name:

Date of Birth: /

Weeks gestation:

Weight:

33 34 35 36 37 38

Data taken from Urquia M et al. (2011) Referencias poblacionales
argentinas de peso al nacer seglin multiplicidad del parto, sexo y edad

gestacional. Rev Panam Salud Publica 29(2):108-119.
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